

Example 2 in Lecture 4 (corrected)

$$x[n] = \left(-\frac{1}{3}\right)^n \mu[n] - \left(\frac{1}{2}\right)^n \mu[-n-1]$$

$$= x_1[n] - x_2[n]$$

We know  $x_1[n] \leftrightarrow X_1(z) = \frac{1}{1 + \frac{1}{3}z^{-1}}$  ROC:  $|z| > \frac{1}{3}$

Let's compute  $X_2(z)$  via the definition

$$X_2(z) = \sum_{n=-\infty}^{-1} \left(\frac{1}{2}\right)^n z^{-n} = \sum_{n=1}^{\infty} (2z)^n = 2z + (2z)^2 + (2z)^3 + \dots$$

$$(1-2z)X_2(z) = (2z + (2z)^2 + \dots) - ((2z)^2 + (2z)^3 + \dots) = 2z$$

$$\Rightarrow X_2(z) = \frac{2z}{1-2z} = \frac{1}{\frac{1}{2z} - 1} = -\frac{1}{1 - \frac{1}{2}z^{-1}} \quad \text{ROC: } |z| < \frac{1}{2}$$

↑ this is the - sign I dropped in lecture.

Hence  $X(z) = X_1(z) + X_2(z)$  ROC:  $\frac{1}{3} < |z| < \frac{1}{2}$

$$= \frac{1}{1 + \frac{1}{3}z^{-1}} + \frac{1}{1 - \frac{1}{2}z^{-1}} = \frac{2z(z - \frac{1}{2})}{(z + \frac{1}{3})(z - \frac{1}{2})}$$